Intro Physics Semester I Name:

Homework 7: Energy: One or two or no full answer questions will be marked. There will also be a mark
for completeness. Homeworks are due usually the day after the chapter they are for is finished. Solutions
will be posted soon thereafter. The solutions are intended to be (but not necessarily are) super-perfect and
often go beyond a fully correct answer.
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Five special forces in physics are:

a) gravitational force, normal force, tension, friction force, and the linear force (the Hooke’s law force).

b) gravitational force, normal force, tension, friction force, and left force (the Captain Hooke’s law
force).

c¢) gravitational force, normal force, tension, friction force, and right force.

d) gravitational force, normal force, tension, friction force, and air force.

e) gravitational force, normal force, tension, friction force, and the Force.

In one dimension, the linear force formula is:
a) F = —ka?. b) F = kux. c) F=—kux. d) F = ka?. e) F =k/x.

If you double the force constant of a simple harmonic oscillator, the period changes by a factor of:
a)1/2.  b)v2.  ¢)2.  d)1/vV2.  e)2/3.

“Let’s play Jeopardy! For $100, the answer is: Admitting that all short definitions of it are inadequate,
one can suggest that it is the conserved essence of structure and transformability. ‘Converved’ means
that the quantity that is neither created nor destroyed. In this case, all forms of the quantity must
be summed to have conservation in general though in special cases conservation may hold for a subset
of forms. ‘Essence of structure’ means that the quantity is a general measure of structure, but it does
not describe details of structure. ‘Structure’ is used here in a very general sense to mean the ordering
of objects, particles, fields, and motions. ‘Essence of transformability’ means that the quantity can be
transformed into different forms of itself and that all changes in the amounts of the forms result in
changes in structure. If you have some of the quantity, transformations are possible. Knowing which
ones occur requires more detailed information.”

What is , Alex?
a) force b) momentum ¢) angular momentum d) potential e) energy

“Let’s play Jeopardy! For $100, the answer is: A useful, but incomplete definition, is the quantified
capacity for change.”

What is , Alex?
a) momentum b) force ¢) potential d) energy e) aspiration

“Let’s play Jeopardy! For $100, the answer is: It has been described as that property of something that
enables that something to do work.”

What is , Alex?
a) inevitability b) noise ¢) tension d) gravity = e) energy
The principle of conservation of energy is that energy is never:

a) adequately defined. b) destroyed, but can be created. c) created or destroyed.
d) created, but can be destroyed. e) destroyed.

The total energy of a closed system (i.e., a system which nothing enters or leaves) is:

a) conserved. b) annihilated. c) created. d) combusted. e) eviscerated.
The physical dimensions of energy are:

a) ML2/T2. b) ML/T2. c) ML2. d) ML?/T. e) M/T?.
The standard SI unit of energy and of work is the:

a) joule (J). b) newton (N). ¢) kelvin (K). d) bassingthorp (B).

e) trufflehunter (T).

That one has enough energy for a certain job or transformation that requires energy E is a
condition, but NOT a condition for the job or transformation.

a) necessary; sufficient b) sufficient; necessary ¢) inevitable; necessarily so
d) harmonious; ceremonious e) forbidden; given



12. “Let’s play Jeopardy! For $100, the answer is: Because of its protean nature, energy is very much like
this thing in everyday human life which, however, unlike energy is not conserved.”

What is/are , Alex?
a) furs b) assignats c) shells d) gold e) money
13. “Let’s play Jeopardy! For $100, the answer is: In physics, it is a macroscopic process of energy transfer.”
What is , Alex?
a) energy b) work c) force d) weight e) sloth
14. The differential work formula is:
a) dW = Fds.  b)dW =F.ds. ¢)dW =F/d5. d)dW =Fds. e)dW = F x ds.

15. A constant force F acts on a body while that body moves a distance A7. The work W done on the
body by the force is given by:

a) W=F/AF. bYW=F. oW=FAF dW=F-F-AF. ¢ W =F.A7 AF.
16. How much work is done by a lifter lifting a 100 kg load straight upward 10 m without acceleration?
a) 9800 J. b) 100 J. c) 1000J. d) 10J. e) 980J.

17. A person holds 10kg grouse at 2.0m above the ground for 30s. How much macroscopic net work is
done by the person on the grouse?

a) 600.J. b) 20J. c) 300J. d) 60J. e) 0J.
18. Kinetic energy is:

a) the energy of POSITION with formula KE = mgy. b) the energy of MOTION with
formula KE = mgy. c) the energy of MOTION with formula KE = (1/2)mv?. d) the
energy of POSITION with formula KE = (1/2)muv?. e) heat energy.

19. The work-kinetic-energy theorem is:
1 1
a) KE = 5mv? b) AE = Wyon. ¢ AKE=W. d)AKE = s
1
e) AKE = §mU2.

20. A moving object has initial K E = 100J and is subjected to a friction force of magnitude 2N and no
other forces. How far does the object go before coming to a stop?

a) 100 m. b) 2m. ¢) 1000 m. d) 50 m. e) Om.

21. We will now the derive the work-kinetic energy theorem in little-bitty steps. Recall the work-kinetic-
energy theorem is
W =AKFE ,

where W is the work done by the net external force acting on a body and AKFE is the change in the
body’s center-of-mass kinetic energy.

a) Write down the differential definition of work.
b) Write down the integral definition of work with unspecified endpoints.

¢) Write down the formula for the work between points A and B done by net external force on a body
and make use of Newton’s 2nd law to rewrite this formula in terms of the body’s center-of-mass
acceleration.

d) Prove that

o oL 1dv?
a-v=—-—.
2 dt
e) Given that d§ = ¥dt, now prove the work-kinetic-energy theorem

22. You are pushing a 60 kg block across a frictionless surface—which is no mean feat in itself.



a) You exert 100N of force in the direction of motion and push the block for 30 m. How much work
have you done on the block? Show how you got your answer.

b) Assuming you start the block from REST and no other forces do work, what is the final kinetic
energy and speed of the block? Show how you got your answer.

23. Power in physics is the rate per unit time of energy transferred or transformed. This is a general
definition independent of the where the energy is coming from and where it is going too. If work is
the energy transfer process, the differential work formula dW = F' - d§ leads immediately to the power
formula for work: aW iz

_ S N
P = — = F . — = F U
dt dt v

where ¥ is velocity (i.e., center-of-mass velocity) of the displaced system. The MKS unit of work is the

joule per second (J/s) which has its own name: the familear watt with symbol (W).

Now that we’ve preambled, there is a frictionless block of ice of 50 kg on an incline of 30°. A worker
pushes the block straight up the incline at a CONSTANT velocity of 3.0m/s.

a) What is the power output (i.e., rate of work done) by the worker?
b) What is the power output by gravity?
¢) What is the power output by the normal force? Why?



Equation Sheet for Introductory Physics Calculus-Based

This equation sheet is intended for students writing tests or reviewing material. Therefore it is neither
intended to be complete nor completely explicit. There are fewer symbols than variables, and so some
symbols must be used for different things: context must distinguish.

The equations are mnemonic. Students are expected to understand how to interpret and use them.

1 Constants

¢ =2.99792458 x 10%m/s ~ 2.998 x 10°m/s ~ 3 x 103 m/s ~ 1lyr/yr ~ 1ft/ns  exact by definition
e = 1.602176487(40) x 107 C

G = 6.67428(67) x 107" Nm?/kg® (2006, CODATA)

g =98m/s’ fiducial value

1
k= T = 8987551787 x 10° ~ 8.99 x 10° =~ 10'® Nm?/C?exact by definition

TED
EBoltzmann = 1.3806504(24) x 10723 J/K = 0.8617343(15) x 107 *eV/K ~ 107*eV /K
me = 9.10938215(45) x 1073 kg = 0.510998910(13) MeV
m, = 1.672621637(83) x 10~%" kg = 938.272013(23), MeV

1
€0 = v = 8.8541878176...x 1072 C?/(Nm?) ~ 10~ vacuum permittivity (exact by definition)

o = 41 x 1077 N/A? exact by definition

2 Geometrical Formulae

4
Ceir = 271 Agiy = 712 Agph = dgr? Viph = gﬂ'r?’

Qgphere = 47 dQ = sinfdf do

3 Trigonometry Formulae

in 0
— =cosf = =sginf —=tan9:sm cos?f +sin?0 =1
cosf
1 1
cscl = — secl = cotf =
sin cosf tan @

ind, in 6 inf,
¢ =a®+ b ¢ =+/a? + b2 — 2abcos, S :SH;) b_ S
a c

f(8) = f(0+360°)

sin(f 4+ 180°) = —sin(6) cos(f + 180°) = — cos(6) tan(f + 180°) = tan(6)

sin(—0) = —sin(6) cos(—0) = cos(0) tan(—0) = — tan(6)



sin(6 4 90°) = cos(h) cos(f 4+ 90°) = —sin(6) tan(f + 90°) = — tan(d)
sin(180° — 6) = sin(h) cos(180° — ) = — cos(6) tan(180° — #) = — tan(h)

sin(90° — ) = cos(h) cos(90° — ) = sin(h) tan(90° — ) = tai(@) = cot(6)

sin(a + b) = sin(a) cos(b) + cos(a) sin(b)  cos(a + b) = cos(a) cos(b) — sin(a) sin(b)
sin(2a) = 2sin(a) cos(a) cos(2a) = cos*(a) — sin?(a)
sin(a) sin(b) = % [cos(a — b) — cos(a + b)) cos(a) cos(b) = % [cos(a — b) + cos(a + b)]
sin(a) cos(b) = % [sin(a — b) + sin(a + b)]

sin? @ = %[1 — cos(26)] cos? @ = —[1 + cos(26)] sin(a) cos(a) = % sin(2a)

N =

cos(z) — cos(y) = —2sin (%ﬂ) . (:v - y)

cos(x) + cos(y) = 2 cos (
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8
o+
<
~_
o
@]
1))
7N
8
||
<
~_

4 Approximation Formulae

Af df 1 .

1
sinf ~ 0 tanf ~ 0 cosﬁzl—ié’z all for § <<'1

5 Quadratic Formula

_ b=V —dac b <b>2 c

If 0=az?+bx+c, then x -
2a 2a



6 Vector Formulae

a=ldl = /a2 +aZ 9:tan_1(2—y>+w? @+ b= (ag + bs,ay +by)
a=1d = /a2 + a2 + a? ¢ = tan™* ) a2 0 = cos™* (a_z)
* v z Qg a

@+ b= (ag + by, ay + by, a. +b.)

@-b=abcosf = azby + ayby + a.b,

C=axb= absin(0)é = (ayb, — byas, a by — byay, azby, — byay)

7 Differentiation and Integration Formulae

d(zP)
dx

d(z®) 1
dx dx T

=paP~!  except for p = 0;

Taylor’s series flx) = i (x_nﬂf(n) (zo)

n=0

_ () (@ —w0)? 15) @ —x0)* 13)
f(xo) + (x — x0) fH (w0) + o1 ¥ (o) + 3 [ (o) + ...

b
/ f@)de = F@)[? = F(b) — F(a) where T2 _ f(p)

zntl 1
/x" dx = except for n = —1; /— dx = In ||
n+1 T

8 One-Dimensional Kinematics

_Ar e Ao de
Vave = Ay T ave = Ay T T A

1
v = at + vy x:iatz—i-vot—i—xo v? = 3 + 2a(x — x0)

1 1
x:i(vo—i—v)t—i—xo x:—iatz—i—vt—l-xo g =9.8m/s?



Trel = T2 — X1 Urel = V2 — V1 Gre]l = G2 — A1

/! !
T = T — Uframel U =V — Vframe a =a

9 Two- and Three-Dimensional Kinematics: General

A7 dar S AT dv  d*F

17: = — 17: Qa. = — - =
e AL dt "ETTAL dt ~ di2

ST
|
|

10 Projectile Motion

1
T = Vg ot y = —§gt2 + vy.0t + Yo Vg0 = Vg cos B Vy,0 = vosinf

t I x + ztanb z%g
vyo  vpcosd y=H 203 cos? 0
vg sin 6 cos 0 vg sin” @
Tfor y max — — Ymax = Yo + ——
g 29
202sinfcosf  v2sin(20 T V2
:v(y = yO) = 0 =2 ( ) Ofor max = — xmax(y = yO) =2
g g 4 g
2(yo — 2(yo —
g g
11 Relative Motion
F'=7Ty —1T] U =17y — U1 a=dy —d
12 Polar Coordinate Motion and Uniform Circular Motion
do dow  d?0
w = — o= — = —
dt dt dt?
. R L dar drA_i_ p . A d>r AP +2dr p
7= T=—=—7F+r1w d=—=|—=—10° |7 ro —w
dt dt dt? dt? dt
7= rwb V= Tw Atan = T
. v? A 02
Gcentripetal = ——— T = —rw?f 2

Gcentripetal = 7 =TrTw = 9w



13 Very Basic Newtonian Physics

. S S o
o= Zi mTy Zsub MsubTcm sub G — Zi m;iv; S Zl mia;
cm - cm cm
Mtotal Mtotal Mtotal Mtotal
[, elF)Fav
cm — —
Mtotal

ﬁnet:ma ﬁ21 :_ﬁ12 Fy=mg g=9.8m/s2
ﬁnormal = - _’applicd Eincar = —kx
T
fnormal = ? T = TO - Fparallel(s) T = TO

E' static — min(Fapplicd; E static max) Ff static max — ,LLstatiCFN E kinetic — ,UJkincticFN

do do  d%0
Vtangential = TW = T% Qtangential = TQ = 7‘5 = T‘W

2

. v v?

Qcentripetal = —— T Fccntripctal =—m—r
r r

mg vr m 4
Fdrag,lin:bv T = —/— T=—= - ’U:’UT(l—e /T)
b g b
F. = b® = L0pAv? =, /2
drag,quad — 0V~ = 5 pAv uT = b

14 Energy and Work

ﬂ _ 1
AW = F - d5 W:/F-d§ KE=g5mv?  Emechanical = KE + PE

AW dwW -
Py = —— = P=F.¢
WAL dt v

_Wby a conservative force AE = Wnonconscrvativc

AKE = Wnct APE’of a conservative force —

dPE . 1
- F=-VPE PE = Ekgﬂ PE = mgy
T

F =



